200DINGS. .. Ne25: July 2005

brood: to ponder morbidly New chess problems
or persistently by C.J.Feather
[Collins Dictionary] 10 Tinwell Road GB-STAMFORD PE9 2QQ
[cfeather@ukonline.co.uk]

Most of the problems in this issue are ortixpddave tried to make them solver-friendly and
shall be very interested to hear whether | haveesaed!

N°6 is in memory of the late Laszl6 Lindnehowvas kind enough to greet me, on our first
meeting over 30 years ago, as “a Hungarian by HSn®My thanks to Mario Parrinello for his
collaboration on n°2 and to Steven Dowd for ingjrn®7. There are no hints again this time,
since nothing is very difficult, and of course #wutions are given overleaf.

This is being prepared at the very end of,Jadyit may well be August before it reaches you.
Best wishes to all for a relaxing holiday season.

1. 2. Mario Parrinello & CJF 3.
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h#2 3 solutions h#2 2 solutions h#2V2 2 solutions

4. 5. 6. to L.L.1 from H.H.
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10. 11. 12.
B AT W 7 7 7
. s 0 12| e e
.32 % 7 Ui U .0 7
o2 | U2 7 . A T
wom Biw | EiE mwm |® o @
.. % 3 5 5
7, 2 7 “5 5 0., /ﬁ/
. B & & WY . & e
h#4Y2 h#4> 2 solutions sh#18%*
SOLUTIONS:

1 1.Rc5 Bd5 2.Kd6 Sf5#, 1.Rfd5 Sg6 2.Rd6 f5# & 1.R#66 2.Rd6 Bf5# Square effects featuring d6 & f5.
2 1.Sd6 Kd2 (Kf2?) 2.Rb1 Sh3# & 1.Sc5 Kf2 (Kd2?) @1BSc2# 31...Kh4 2.Bb6 (Be8?) d8R 3.Kc7
Se6# & 1...Kg2 2.Be8 (Bb67?) dxe8S 3.Ke5 Sg6# 4 1.Sdf7 Shé 2.Sxh6 g8S 3.Sg4 Se7# & 1.Sc8 Se7
2.Sxe7 g8S 3.Sg6 Sh6# 5 1.Qg3 Se7 (Sc8?) 2.Kd4 Kxd7 3.Qd3 Sc6# & 1.Qh3 (SeF?) 2.Kxc4 Kxc7
3.Qd3 Sh6# 6 1..Rh4 2.Sf2 Re4 3.Sg4 Rf4 4.exf4 exfa# 1...RedRxd47? This started out in 2-solution
form, as can be shown here with Sh1>d1 (addinBfl 2.Sxe3 Rxel 3.Sg2 Re4 4.Sh4 gxh4#). However the
present solution is much better than the other dien it gave me the idea for another problem is th
issue... 7 a)1.Qf4 Kc3 2.Kd5 Bb2 3.Ke5 Bal 4.Be4 Kc4# b) 1.Qed3K2.Kb5 Bbl 3.Kad Kc4 4.Qab5
Bc2# Switchbacks by the WK & the WB each time. 8 1.Rg5 Kh2 2.Rg7 fxg7 3.e1R g8S 4.Re5 Sfe# &
1.Bc5 Bf8 2.Be7 fxe7 3.a1B e8S 4.Bd4 Sfé# 9 a) 1...f4 2.Bf5 fxe5 3.Bd7 e6 4.Kg8 exd7 5.18 d8i)#
1..f8B 2.f1B Be7 3.Bc4 Bxf6 4.Bg8 Bxe5 5.Bf6 Bxfd# swapping Ps on their starting squares perhaps
novel twinning? 101...Bh3 2.Kh5 Bg2 3.Kg4 Bf3 4.Kh3 Bg4 5.fxg4 Sgblte one suggested by n°6.
111...Bxc3 (Bxal?) 2.Sb6 Bxal 3.Sd7 exd7 4.Ka2 d8Q&l Qa5# & 1...Bxal (Bxc3?) 2.Sd6 Bxc3 3.Sf7
exf7 4.Kxc3 f8Q 5.Kd3 Qf3# The half-move form seesngtable for white tempo effects. 12 1..Re2#
1.Kxg2 2.Kh3 3.Gg4 4.Gd4 5.Gf4 7.Kg5 8.Gh6 9.Kf6G66 14.Kb6 15.Ga6 16.Gc6 18.Ka8 Rad#

Correction to Broodings 24 n°8: Apologies for the misprint! As almost everyonelissd, the piece on d1
should be theg.




